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POPULATION STUDIES

Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each.

1.

All questions are compulsory.

As per The Sample Registration
Bulletin  (SRS)  October 2012
estimated Death Rate of the country
lies in which among the following
categories (per thousand population) ?
(A) 6-79 (B) 8-99
(C) 10-11.9 (D) 12-13.9

Match List — I with List — Il given

below in view of availability of their

respective source :

List—1 List— 11

a. Proportion  of i. Sample
never  married Registration
women in any System
population Bulletin

b. Infant Mortality ii. Census
Rate by Sex and

Residence
c. Statewise iii. Family
Medical Welfare
Termination of Statistics in
Pregnancies India
Performance
d. Pattern of Land iv. Directorate of
utilization in Economics
India and Statistics,
Ministry of
Agriculture
Codes :
a b c d
(A) i i iii iv
B) i iii ii iv
(C) iii iv i i
(D) iv iii i i
Throughout  mankind  existence,

population grew at a rate of
per year.

(A) 10 percent

(B) 0.002 percent

(C) 2 percent

(D) 0.5 percent
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4.

The is ratio of the non-
working population (under 15 years
old and over 64 years old) to the
working age-population.

(A) Labour force participation rate
(B) Per capita population ratio

(C) Population transition

(D) Dependency ratio

Arrange the following most populous
four countries in descending order :

1. China

2. India

3. United States of America
4.  Indonesia

(A) 1,2,3,4

(B) 2,3,4,1

(C) 3,4,1,2

(D) 4,1,2,3

Match List — | with List — Il of the
nuptiality table :

List-1 List— 11

a. Z; i. Probability of
marrying

b. E; ii. Number of
marriages
occurring

c. tg, iii. Number of
singles

d. M, iv. Ever married
women aged x

Codes :

a b c d

(A) i ii iii iv

(B) i i iii WY

(C) iii iv i ii

(D) iv i ii iii
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STHEET AT

g - ||

W 0 ueT | ae (50) Sg-faedd e § | Tk We Al (2) 3R € | @t IR ST ¥ |

T 9me IR Jeifed (T8 3R TH),
3TRIER, 2012 % STIER ST Sl STHIT
g X, efafea o @ fog gt (g
Teh &SR STHEEAT) o Siaid 37T € 2
(A) 6-7.9

(B) 8-9.9

(C) 10-119

(D) 12-13.9

ffafEa & Gefad i o Sucteddr &
FAH @A LG — | R g - 11 ¥
gHferd I
= - | =it - 11
a. Tt Of SEEET Q. 9
e Jfaaed IAoHeeH
Afeel 61 3O Foed Jeifed
b. fomm 3R e @ ii. SOMT
ferey gt <%
c. TogaR Mafhcdid iii. Rd 9 e
TJOT AT T
HifeTeht
d. 9Ra 9 9fF F iv. e IR
ST T AT HifeTeht

oo, Hiw
T

FT:

a b c d

(A) i i iii iv

(B) i iii ii iv

(C) iii iv ii i

(D) iv i ii i

g Sfad & Ade | T 9 AT
STTh I AR YT H SEE
e e UTdeTe o 3% § &gt 2

(A) 10 wfaeTa

(B) 0.002 wfcera

(C) 2 ufceta

(D) 0.5 ufderd
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FAFST I Al G ¥R
HIHHTST S Al STHEE (15 a9 d A
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(A) FHEE FEWITTT 8T

(B) Wi SR SIS 3T

(C) STEwAT HshHUT

(D) 3mEgan ST

I SEET g FEfaiEd 9
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1. =9

2. 9Rd

3. g ST ST

4, SR

(A) 1,2,3,4

B) 2,341

C) 3,412

(D) 4,1,2,3

= - | = - 1
a Z i, foame t HureTar
b. E i, foam® g Wt wEn
c. tg, iii. Afeatedt =
e
d. M, iv. X 3T =l foafed
e
HT
a b C d
(A i i i v
B) i i i v
©) i v i i
O) v i i i
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10.

nP, column of life table refers to

(A) Survival function
(B) Probability of death

(C) Number of persons
between agesaand a + 1

(D) Expectation of life at birth

living

A theory

l. is a systematic explanation of
relationships between
economic variables.

Il.  Explains causal relationships
among variables.

I1l.  Provides basis for policy.

IV. Provides an explanation of all
factors influencing economic
growth.

Codes :

(A) lonly

(B) land Il only
(C) I, lland Il only
(D) 1Vonly

According to Harris and Tadaro
creating urban jobs by expanding
industrial output :

(A) is insufficient for solving the
urban unemployment problem.

(B) will generate capital-intensive
technologies.

(C) will generate more Government
revenue through urban wages

(D) induce Government to increase
wages

IX column of life table refers to one of
the following :
(A) Probability of death

(B) Number of persons living at
exact age ‘x’

(C) Number of person years lived
(D) Total life time after age x
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11.

12.

13.

14.

Which  among the  following
estimates is not provided by the Dual
Reporting System ?

(A) Birth and Death Rates

(B) Infant Mortality Rate

(C) Couple Protection Rate

(D) Cause of death

For providing reliable estimates of
the following, which is not the
objective of the Sample Registration
System ?

(A) Birth Rates

(B) Death Rates

(C) Infant Mortality Rates

(D) Migration Rates

Assertion (A) : Usually fertility in
rural areas is higher than the
fertility in urban areas.

Reason (R) Acceptance  of
contraceptive methods is higher
in urban areas as compared
with rural areas.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : In India proportion

of the single and
divorced/separated women is
increasing.

Reason (R) : Status and autonomy of
the females is improving in
India.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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10.

Sfte dfeeht &1 nP, Frefafaa & &

feperent gk & 2

(A) STRSTEar B

(B) T Ht AT

(C) a3ia+ 1 3Mg & o Sitad
AT I &

(D) ST % GUF SieH i GHET

T fagTa T 9

|, onfass =M & o9 & Ha"l &
AT AT

. a8 =R & g & AT e B
AT AT & |

. =& Aifq & &0 oUR uem ar
g1

V. I 7o fasma i wefad e
A T BRBT Dl AT ITAY
FATE |

B

(A) Faa |

(B) a | qan |l

(C) @& |, Il qar il

(D) e IV

E T TSR F IR, IR

SR i TR Y It | AR &

SHAHL S~ Al

(A) TEL SRISTIRI @t TEET H gl
FA T AT ¢ |

(B) USTI-shige UrenfiTeht s 5= 7T |

(C) <= BSIg & gRT 2AMeeh BRI
3 3T HAM |

(D) WS sigH & oI TRepe ot AR
FHAT |

Sliem et 1 Ix Hiem f=farad |
T e ga & 2

(A) T H G

(B) Wl g ‘X’ W Sfad sAfal i

AT
(C) Sifad =afert s =t T
(D) g ‘X’ & &8 Fel Ao HreA
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11.

12.

13.

14.

frfafed & @ &9 @ oEe SRl
fraifer gomelt gRT Suctey 7@t foRar STen
g2

(A) ST 3R gF 5T

(B) Prygg

(C) =ufd &I 3T

(D) T HT FHRUT

EISEI S ) D S G0
fr=fafead o @ faes favaea s am
ERECETCIR

(A) ST

(B) I

(C) RRIFIT

(D) wEa™E X

AU (A) : TG TEOT &5 6
EEE NI o R S o)
TSTeieTe 9 2Afeh Bl € |

q% (R) : ™R % faEl oo
& T oI | Vet & Stk
AT A E |

(A) (A) 3 (R) I T& € 3R (R)
(A) i TE AT E |

(B) (A) 3R (R) I+ Tl & i (R)
(A) = TE AT TEE |

(C) (A) @& g, wfe (R) Terd & |

(D) (A) TTod &, df (R) TN € |

(A) (A) 3R (R) IHT Tt & 3T (R)
(A) T T& AR E |

(B) (A) 3R (R) IHT @&t & A (R)
(A) =t TE = T E |

(C) (A) W&l g, afh (R) T € |

(D) (A) Tord €, ot (R) W& € |
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15.

16.

17.

Among the following categories

providing information on the

population which one is not provided

by Population Census ?

(A) Demographic characteristics

(B) Social-cultural characteristics

(C) Economic characteristics

(D) Characteristics related to health
of the population

Assertion (A) : The population of
India has crossed the figure of
more than a billion.

Reason (R) : It is mainly because a
large  proportion of the
country’s population constitute
eligible couples who are fertile.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Match List — | and List =11 :

List—1 List— 11
a. Kingsley i. Natural and
Davis Political
observations
made upon the
bills of
mortality
b. Sir William ii. Political
Petty Arithmetic
c. Karr iii. The Population
Sunders Problem
d. John Graunt iv. Population of
India and
Pakistan
Codes :
a b c d
(A) v ii iii i
(B) iii i i 1\
(C) ii i iv i
(D) i 0\ [ i

Paper-I1

18.

19.

20.

21.

Among the following persons who
could be considered as the pioneer in
trying to focus attention of Indian
leaders and thinkers on population
problems in India ?

(A) Kingsley Davis

(B) P.K.Watal

(C) Prof. Gyan Chand

(D) Dr. Radhakamal Mukherjee

The Harrod-Domar Growth Model
suggest growth is

(A) directly related to savings and
inversely related to the capital/
output ratio

(B) directly related to the
capital/output ratio and
inversely related to savings

(C) indirectly related savings and
the capital/output ratio

(D) directly related savings and the
capital/output ratio

The long term objective of the
National Population Policy is to
achieve stable population by the year

(A) 2025
(B) 2030
(C) 2035
(D) 2045

The Government of India announced
a National Policy on older persons in
which among the following years ?

(A) 1979
(B) 1989
(C) 1999
(D) 2009
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15.

16.

17.

SHEE gEdt geer 39 % fow
frafafea gt & 9 == @ gon
SEEAT SFRTOMET 5T el aITE T8 ¢ 2
(A) TR forreT

(B) WHIRToh-TiER e Tarree

(C) et forwan

(D) @ % T@rea | Hafrd foriar

ATHAT (A) : 9RA H TGS TH
fafer & sifuss 1 3fiheT IR
TH T |

% (R) : THH T FROT g € [ 3
i SRS TG U St i
& 591 IS &TeeT |

ETE

(A) (A) 3R (R) 3T W&t & 3T (R)
(A) = TEl AT |

(B) (A) 3R (R) I+ @&t € 3R (R)
(A) =i T& = TE T |

C) (A) T &, b (R) Tora & |

(D) (A) Tord &, Wi (R) Wl & |

Tt — | B g — || @ AT i :
T - | =it - 11

a. O i fow Sy

ereel T

T | BT

A v i
®) i i i v
© i i v i
O i v i i
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18.

19.

20.

21.

frfafea & 9 foa =t & 9y o
TG ) THET W ORA™ Aqrel i
foaRel W & Higd w aren g
AT ST bl € 2

(A) ot sfod

(B) die. aeA

(C) WItheR M =%
(D) . eI TR

TES T F W T’ H W R

T HHT T T 2

(A) WoIETd: S | Hafed e ok
H OST/afaher ST | Faitdd

(B) v TSimidwel oFud 9§
Talgq d FohH H SEd ¥
e

(C) oWeta: 9a &l TS/idwel
A § Fard

(D) v = qA ISR

&

A TG A 1 ST 35avd
feffed & & fFg av 9% fer

TG T T € 2
(A) 2025
(B) 2030
(C) 2035
(D) 2045

IR WHR = F=ferad 5 9 g ad
T Fgraren e i =T o 2

(A) 1979
(B) 1989
(C) 1999
(D) 2009

Paper-II



22.

23.

24,

25.

The credit for initiating a new field
of empirical research in population
studies goes to

(A) Sir William Petty
(B) Edmund Halley
(C) Thomas R Malthus
(D) John Graunt

It was in the middle of the
Seventeenth Century that population
studies emerged as a discipline in

(A) Australia

(B) England

(C) France

(D) United States of America

Julian Simon has

(A) supported Club of Rome’s
Limits to  Growth  for
estimating technological
change.

(B) assumed population growth
causes technological progress.

(C) wused Second Law  of
Thermodynamics to assume
that technological progress is
costless.

(D) assumed classical view of
technological change.

Development Economics focuses
primarily on the poorest of
the world’s population.

(A) Population
(B) Two-thirds
(C) One-third

(D) 28 percent

Paper-I1

26.

27.

28.

29.

30.

Pearl pregnancy index is related to
(A) Fertility

(B) Family Planning

(C) Mortality

(D) Migration

Which among the following is
proximate determinant of fertility ?

(A) Age and entry into sexual
union

(B) Voluntary abstinence
(C) Coital frequency
(D) Contraception

Infant mortality, life expectancy and
adult literacy rate comprise

(A) Purchasing Power Parity

(B) Physical Quality of Life Index
(C) Human Development Index
(D) Gender Development Index

Which of the following could not be
considered a major economic system ?

(A) Capitalism

(B) Communism

(C) Socialism

(D) Physical quality of life index

What are the requirements for
estimation of Infant Mortality Rate
among the following ?

(A) Infant birth and death rates of
one year

(B) Infant birth and death rates of
two consecutive years.

(C) Infant birth and death rates of
three consecutive years

(D) All the above
S-15-13



22.

23.

24,

25.

G TFI B YA SEEH &
T & B AR FH BT AT A=A
A ¥ fopg Sar € 2

(A) W faferaw gt

(B) usHS gl

(C) WY 3R, Hedd

(D) i 7T

79t VAT H A W OSHEET AT
frfeiad o ¥ [aH U I & &9 |
ST E ?

(A)  sieferar

(B) Twie

C) W&

(D) T T ST

Sffeta qreH =

(A) WgaifeE oRac &1 A
TTH & o0 ‘T % U= &
feafe Z wiver it e fam & |

(B) = mmT ¥ f& SHden gty @
TIAIRTeR Tt oreft & |

(C) viaifThE Wifd ATa-gH gl &

- TWH FAE TH % fou

qEEATE & fgdlm e &
ST R €

(D) VAR UReds & o
TZHI0T T AT & |

foeprederss v e, fovas
SHEE Hi TEdH Ly
ThEa & |

(A) SHEE

(B) 3I-faere

(C) u=-fwer

(D) 28 wfaeTA
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26.

27.

28.

29.

30.

T W S efeied § 9 e
Taitad € 2

(A) STH=EH

(B) uR@R e

(C) e

(D) vesT

et 9 9 9 @ ST g9dr &
ey fuies € 2

(A) it GO | ufee $ H g
(B) wWifes® ¥aq
(C) HHFIIH® 3Tg

(D) Ry

T  FHIee &

(A) HIRITRT FHHAT

(B) i i siifcreh T[oTeT e
(C) w=d for =

(D) for ferehrar wgere

ffeied & 9 69 % wgE oTiaw
OTTA et |1 ST Fehell ?

(A)  Tefrar

(B) ww=aR

(C) wHFER

(D) STeF &t Hifeh ToTeRT 1 Sgah

fore] Jog <X % 3o % fow fr § 9
fohe I STrereaeRdl Bidl & 2

(A) U IY Hi ] 51 3R g
(B) I TRIAR @dt =i ¥ =7 3T
TG T
(C) o TR =t &bt forg] S 3i]
TG T
(D) ST =l
Paper-II



31.

32.

33.

Assertion (A) : Mother’s education
improves Child Health and
Nutrition.

Reason (R) : Educated mothers have
better access to knowledge on
health and nutrition.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) Sex ratio is
favourable to males in India.

Reason (R) : Female foeticide is
practiced in India.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following

characteristics are most likely found

in developing countries ?

(A) High population growth rates

(B) Large number of people living
in poverty

(C) Very traditional methods of
agricultural production

(D) All the above

Paper-I1
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34.

35.

36.

Assertion (A) : Globalization has
brought in plenty of female
employment opportunities.

Reason (R) : Participation of women
in employment is less.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion  (A) Unintended
pregnancy is low among young
women.

Reason (R) : Young women have
high equitable gender role.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : Rural areas are also
facing water pollution like
urban areas.

Reason (R) : Rural population drink
impure irrigated water.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

S-15-13



31.

32.

33.

AH (A) : T D TR T = o
e 3T 49T Sgd? B € |

% (R) : forferd Omamd W@ 31} o
FadT I SR &Y H U
Tl & |

T4

& .

(A) (A) T (R) <Hi @l & 7 (R),

(A) T TE TEHT E |

(B) (A) T (R) +T Wl & @ (R),
(A) T TE TILHT TE ¢ |

(C) (A) W g, W= (R) o € |
(D) (A) 7o &, W= (R) W& € |

AR (A) : IRA | o7 S o0
% U & (AfeeTst ¥ o iy
?) 1

% (R) : IRA § H7 YU T |
T

&<

(A) (A) @ (R) I W& & T (R),
(A) T TE TEHT E |

(B) (A) @ (R) g Wl € &R (R),
(A) T TET TEHIT & & |

(C) (A) W& W (R) T & |
(D) (A) Terd &, R (R) Wl & |

faeprarsticr 3ei & Fefatea sifyeremor o

T {5 % U ST Bt FRIE € 2

(A) I=F -G gy

(B) <! W& T ANl Bl TR § L&l

(C) FU3IURA & oW Afd IRwERS
N

(D) = ot
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34.

35.

36.

Ao (A) : AVAROT F HRO
AiectT3T T ASHIR & TER ST
et € |

% (R) : TSHIR H AfeATsT Sl TEIiTar
FAE |

ETE

(A) (A) @ (R) SHI W& € 3R (R),
(A) T TE TEHT E |

(B) (A) @ (R) sHI Wl & W (R),
(A) 1 el T TE & |

(C) (A) W g, W= (R) o € |

(D) (A) Tord €, W] (R) Tel ¢ |

AfWHYT (A) : o Aigad 3amET T
RO Y Il € |

% (R) : AT AiEaTsT Hr TS i
IOt Bt & |

C A

(A) (A) T (R) 1 Wl € @ (R),
(A) T TE TEHT E |

(B) (A) @ (R) Sl Wl & @ (R),
(A) 1 el T TE & |

(C) (A) W g, W (R) o € |

(D) (A) Tora €, W] (R) Wl ¢ |

AWHYA (A) : IR & I T AHT
& off STeT-UguvT T T R X
T

% (R) : uHior SHoen fqe w3
AT 3 57 O T |

&<

(A) (A) T (R) 3T W@l & &1 (R),
(A) T el TEHT & |

(B) (A) @ (R) Sl Wl & & (R),
(A) T TE TILHT TE ¢ |

(C) (A) W& e == (R) T ¢ |

(D) (A) 7o €, W= (R) W& € |
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37.

38.

39.

40.

Lee has classified main factors
resulting in migration depends upon

I. Factors associated with origin

ii. Factors associated with area of
destination

iii.  Intervening obstacles
iv.  Personal factors
Codes :

(A) iandiiionly

(B) iiiandivonly

(C) i, ii,iiiand iv

(D) iionly

P/F Ratio is used in the area of
(A) Fertility

(B) Mortality

(C) Migration

(D) Nuptiality

Assertion (A) : Urban Youth have
more opportunities for
employment than rural youth.

Reason (R) : Urban youth have
better skills for job than rural
youth.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which among the following States
has contributed maximum decline in
overall decadal growth rate of the
country during 2001-2011 ?

(A) Uttar Pradesh
(B) Madhya Pradesh
(C) Maharashtra

(D) Bihar

Paper-I1
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41.

42.

43.

The greenhouse effect is the

phenomenon by which

(A) biological diversity is dominant
in agricultural production

(B) the globe’s water
affects plankton

pollution

(C) the earth’s atmosphere traps
infrared radiation

(D) reduces  ozone  depletion
through  the  cutting  of
chlorofluorocarbon production

The Club of Rome Study, The Limits
to Growth, suggests that as natural
resources diminish

(A) capital increasingly replaces
labour

(B) technology change
compensates for capital

depletion

(C) costs rise, leaving less capital
for future investment

(D) contingent valuation becomes
critical

Deforestation
l. Leads to localized flooding

Il.  Reduces sustainable
development potential

I1l.  Reduces watershed stability

IV. Augments carbon restoration

provided by forests
Codes :
(A) land Il only
(B) Illand IV only
(C) I, Iland Il only
(D) I, 11, Nland IV

S-15-13



37.

38.

39.

40.

o 7 Ffeied o @ fFae R W
VAT % Y& eI Sl TR (haT & 2
i A9 998 wE

ii. 7T & @ G9E I

iii. e ST

iv. ST FRE

&<

(A) et i @i

(B) e i 3K iv

©) i, ii, iii 3 iv

(D) %o ii

/U ST T 3TN =Terad o 9
fohe o o feparm ST & 9

(A) S

(B) T

(C) e

(D) dafeehar

ARTHUT (A) : FTHOT AT HE 3R
B AR B AR & ST
T SUAH & |

A% (R) : TTHIOT AT Bl 7O I AT
FH & U STEavas® vl 9
3T T & |

&<

(A) (A) @ (R) SH1 Wl & 3R (R),
(A) FT TET TEHIT |

(B) (A) @ (R) gHI @l & 3R (R),
(A) T TET TEHIT & & |

(C) (A) Wl &, W= (R) Toid & |

(D) (A) 7o &, W= (R) W& ¢ |

I B P IUHE Jhgal T DA
e o o Fefafea & 9 g g
T AR & 2

(A) I IR

(B) =T WY

(C) werrg

(D) feer
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41.

42.

43.

U9 2P e’ TS UG UNEe ©
ISEERR

(A) FEF AR T Sig fafawar vee
TAE |

(B) Rl W ST UGHUT wighed i
TTfert T € |

(C) Xt &1 aATgAvSA THRS forbroT
N ThEH AT & |

(D) FARIFRIHIEH & SR H FHeld]

T BT o BT i HH HLAT & |

fg ota 3ffk I & areEE “ff fotfmed
3k M’ ¥ Fg foam W o
T UTepieh TaTeAT % Y & & AT
(A) TSt g w Afe ° eI
TiqETad e ol & |

(B) WA= uRacd qett & &fagrd

FATE |

(C) #od gl & % THerasy
o ¥ Faw & v w9 e
T E |

(D) 3R Yo T ey fefa
T Uga ST g |

ECEicTul

i, TIHIT SIg S BRI ST E |

ii. RO [T &aT S 9 AT |

ili. UereT % wnfac § HH e E |

iv. o R WEH fU S Aot e
A § SEioRl el & |

(A) 3t i T i
(B) a3 i T iv
(C) Faet i, ii 7 iii
(D) i, ii, iii 7 iv
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44,

45,

Which of the following falls under
perinatal mortality ?

(A) Late foetal deaths
(B) Early neonatal deaths

(C) Late foetal and early neonatal
deaths

(D) Early foetal and late neonatal
deaths

The Government of India, realising
the importance of population data, set
up a Population Data Committee in
which among the following years ?

(A) 1940
(B) 1944
(C) 1950
(D) 1954

Based on the following table answer the
questions 46 — 50 :

Life Literacy] HDI GDI
Expectancy |(age 7 +,1991-92 1991-
1991) 92
Kerala 72 90 0.603 | 0.565
Uttar 59.4 52 0.423 | 0.388
Pradesh
Madhya 54 44 0.349 | 0.312
Pradesh
Andhra 60.6 44 0.400 | 0.371
Pradesh
Orissa 55.5 49 0.373 | 0.329
Himachal 63.6 64 0.454 | 0.432
Pradesh
Bihar 58.5 38 0.354 | 0.306
Maharashtra| 64.2 65 0.523 | 0.492
46. Which of the following States

showed highest levels of life
expectancy, literacy, HDI and GDI ?

(A) Orissa

(B) Andhra Pradesh
(C) Maharashtra
(D) Bihar

47.

48.

49.

50.

Paper-I1

14

Which of the following States had
highest GDI ?

(A) Himachal Pradesh
(B) Maharashtra

(C) Andhra Pradesh
(D) Orissa

Which of the following State has
lowest HDI ?

(A) Orissa

(B) Madhya Pradesh
(C) Uttar Pradesh
(D) Bihar

Arrange the following States in

descending order (high to low) of

literacy ?

(A) Kerala, Maharashtra, Himachal
Pradesh and Uttar Pradesh

(B) Kerala, Himachal Pradesh,
Maharashtra and Uttar Pradesh
(C) Himachal Pradesh, Kerala,

Uttar Pradesh and Maharashtra

(D) Maharashtra, Kerala, Uttar
Pradesh and Himachal Pradesh

Arrange States in ascending (low to
high) order in relation to life

expectancy :

(A) Madhya Pradesh, Uttar
Pradesh, Andhra Pradesh and
Orissa

(B) Uttar Pradesh, Orissa, Madhya
Pradesh and Andhra Pradesh

(C) Madhya Pradesh, Orissa, Uttar
Pradesh and Andhra Pradesh

(D) Orissa, Andhra Pradesh, Uttar
Pradesh and Madhya Pradesh
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44,

45,

e 7 ¥ 9 WHed oddr &

3T T ST ¢ 2

(A) i g

(B) wHa &Nt & Ao R Feg

(C) i G o Wad Bl &1 ot
ferey 7

(D) M % RWFH HT H g qdr
TGd BF & % faone d e

forgy g

TR THN = TG & Hel & e
! T §U Hefared o 9 g a9 o
STEEAT 3ATeheT QAT T T fhaT ot 2
(A) 1940 (B) 1944

(C) 1950 D) 1954

T qRoT & 3R W 36 a1 [T T
TITEET 46 — 50 % 3T JIT

47.

48.

49,

50.

aT | WIERAT | TSRS | Setee
T | (3 | 1991-92 | 1991-92
7+,
1991)
A 72 90 0.603 | 0.565
IR 59.4 52 0.423 | 0.388
EN)
ey 54 44 0.349 | 0.312
PEN]
3y 60.6 44 0.400 | 0.371
PEN)
3gMT | 555 49 0.373 | 0.329
feurae | 63.6 64 0.454 | 0.432
EN)
fer 58.5 38 0.354 | 0.306
TR | 64.2 65 0523 | 0.492
46. THfaREa 9 9 69 T59 | Sieq-yem,
TR, TH S 3T q S 37
ST X TR g € 2
(A) SEE
(B) 31y wR¥
(C) wenrg
(D) fe&R
S-15-13
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frefeiaa & € foa T 1 SSiemE
STIAH § 2

(A) femraet wew
(B) wenT
(C) o7y wew
(D) sgm

frefetaa & ¥ 5 59 =1 TaeeTs
AT T ?

(A) g

(B) U WW

(C) SWURY

(D) foer

e & 3TaRIE! 9 | (3T T HF &

%0 W) Fefefad T w oFetEd

FHIT ;

(A) A, TR, TEHEA TSR =
I U

(B) Ixet, feWeeT WSV, WX dqem
I U

(C) THMeT UReT, e, ST USST aor
HERTE

(D) TR, A, S UIT el
feameret v

STie TeaTeT % URued | TS ol TR

(T ATueh) A T ST HifoT ;

(A) T TR, ST UGS, ST TSI
EEIR)

(B) ST WSV, SEIEI, TEF WSS ol
3Ty TR

(C) weF U9, SN, ST WSl oer
3Ty TR

(D) Sei, Y URY, ST USRSl
e TSI
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